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1. X ={a,b,c}00000000000O000OO0OO0OCOO0OO0O0OOOOO0OOOOODOOOOUOOOOOO
000000000A={a,b}000 A°0D0D0 ADDDDODO

(1) Oy = {07 {a}7 {b7 C},X} (2) Oy := {05 {b}’ {C}’ {b’ C}’X} (3) O3 := {(Z)v {C}vX}
(4) 04 = {0, {a}, {a,b}, {a, e}, X} (5) 65 = {XODOOO0DOOOO}  (6) O := {0, X}

2. (1) Ai={(z,y) €R? |2,y >0, 2+y<1}CR2000000000 Eudid000000 4°, A00000
(2) B:i={x eR"|0<|z/<1}CcR"0000000 Eudid000000 B>, BOOOOO

3. f:RoR, f(z):=2r+10000 Eueid 0000 0000000000000000000000000
000000000000000000O0CROOOOf YO)={zeR|f(z)=22+1€0}cRODOD
0000000/ 4(0)=00000000000000f740)£00000000 € f~40)0 f71(0)
000000000000000
(1) U(f(a);8) = (f(a) =6, f(a) +6) cODDO0 §>000000000000
(2) f~Y(U(f(a);6))00000000000000«0 f~1(0)000000000000

4, 000 fO00D00000O0ODODODOOO0OOOg=f"1'":R—-RO0O000¢0000000000000O00O0
ooo0o0o0o0O000000 fOgO0O0O0O0O0O0O0O0O0O0O00O

5. 001.(1)0(X,0)0000000Y :={p,qr}0006):={0{r}.{p.¢},Y}00000000

(1) 000 f:X—YO fla):=r, fO):=p, f(¢):=¢q00000f00000000000000
(2) f/100000000000000000 fO000000000(X,6,)~(Y,0(Y)0000
(3) X0DODOOO 1. (2)0 ¢,00000000f:(X,6,) — (Y,o(Y))000o00
6. 0000000000 X=[0,2,Y:=[010)U[230f:X>Y, fla)=20<z<1), fz) =a+1
(1<2<2)00000X,YOOO Eucid0O d(z,y) :=|z—y/ 0000000000
(1) f0000000000000000g=f"':Y—>X0000O0g¢00000000
(2) g:Y -X000000000000
(3) 0<e<100002€Y 0 e00 U((2e)00000f H(U(2e)cXOODD00000000OMOOO
0f=¢'0000000f0¢0000000000
7. 00004000000 [21]00000000 (X,0(X)), (Y,0(Y)0000000 f:X—-YOO0000

(1) ¢(X)={X00000000 }000000¢(Y)00000f000000000000
2 o(Y)={0,Y}000000¢(X)00000 000000000000

8. 00004000000 [1-7000 X0OODOOOODOOOOODOODOOooOo AooooA” cxoooo
0000 4.1.2(p.87) 0000 400000000000000000OOOOO ﬁ::{OCX|OD:O}
O0D0000¢0000000000D000000000000400000AcB=A"cBY0000
O0000000000D0000000 ¢0000 ADOD A°00A4°=A0000000000

9. X0000 {an}n>1 0 € XO0ODOOO0O00«e0000000 0000000000 N=N(0O)0ODO
000n>NOOOa,cO000000000ACXO0000eecADDDDOODADDOODO {an}tn>1
0«.0000000000000000000

goooooooooooo
http://math.shinshu-u.ac. jp/~ksakai/13_gentop/13_gentop.html
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(1) g:R— R, g(z):=22000000000000000000000

(2) h:R— R, h(z):=(2¢+1)200000000000000000011/100000 300000000
000421 (20000000

o00oo11/80 3000000
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